BIDS EXTENDED AND CHECKED

BY:	Amanda Taylor
DATE:	April 30, 2021

BID TABULATION

PROJECT: Chisholm Valley Water, Wastewater, and Storm Drain Improvements - Area 3

	0400 Comics Dead				-	T		I		1	
LOCAT	3400 Sunrise Road TION: Round Rock, TX 78665	Company	Namo		nstruction any, Inc.	Poval \	/ista Inc.	Cox Commercial Cons	truction	Smith Contracting	Co
-	,			Statement of	•	Statement of		Statement of Safety? Yes		Statement of Safety? Yes	
אט טום	ATE. 4/30/2021			Addendum(s	-	Addendum(s)	•	Addendum(s)?		Addendum(s)?	
				Bid Bond?		Bid Bond?		Bid Bond?	Yes	Bid Bond?	Yes
]	
		APPROX				UNIT					
ITEM #		QTY.	UNIT	UNIT PRICE	COST	PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
1	REMOVE STRUCTURE (INLET)	2	EA	\$1,300.00	\$2,600.00	\$750.00	\$1,500.00	\$2,500.00	\$5,000.00	\$1,000.00	\$2,000.00
	HOT MIX ASPHALT CONCRETE PAVEMENT,										
2	2" TYP-D	1381	Ton	· ·	\$165,720.00	\$145.00			\$131,195.00	\$122.00	,,
3	SURFACE PLANING (MILLING) (2")	11543	SY	\$6.00	\$69,258.00	\$6.00	\$69,258.00	\$3.00	\$34,629.00	\$5.00	\$57,715.00
4	NEW MANHOLE CONSTRUCTION, 60" DIA.	1	EA	\$7,000.00	\$7,000.00	\$5,100.00	\$5,100.00	\$11,000.00	\$11,000.00	\$5,800.00	\$5,800.00
5	NEW MANHOLE CONSTRUCTION, 72" DIA.	2	EA	\$8,300.00	\$16,600.00	\$6,100.00	\$12,200.00	\$12,000.00	\$24,000.00	\$7,600.00	\$15,200.00
6	PRECAST JUNCTION BOX 4 FT X 4 FT	4	EA	\$6,525.00	\$26,100.00	\$4,500.00	\$18,000.00	\$6,000.00	\$24,000.00	\$4,800.00	\$19,200.00
7	PRECAST JUNCTION BOX 5 FT X 5 FT	4	EA	\$6,950.00	\$27,800.00	\$6,100.00	\$24,400.00	\$8,000.00	\$32,000.00	\$5,800.00	\$23,200.00
8	PRECAST JUNCTION BOX 5 FT X 6 FT	2	EΑ	\$11,825.00	\$23,650.00	\$9,700.00	\$19,400.00	\$15,000.00	\$30,000.00	\$10,800.00	\$21,600.00
9	PRECAST JUNCTION BOX 7 FT X 7 FT	2	EA	\$17,450.00	\$34,900.00	\$19,500.00	\$39,000.00	\$19,000.00	\$38,000.00	\$19,300.00	\$38,600.00
10	PRECAST JUNCTION BOX 8 FT X 8 FT	1	EΑ	\$19,000.00	\$19,000.00	\$20,500.00	\$20,500.00	\$21,000.00	\$21,000.00	\$23,800.00	\$23,800.00
11	GRATE INLET (3-FOOT X 3-FOOT)	1	EΑ	\$5,975.00	\$5,975.00	\$4,500.00	\$4,500.00	\$7,000.00	\$7,000.00	\$5,800.00	\$5,800.00
12	INLET (COMPL)(PCO)(5FT)(BOTH)	3	EA	\$9,150.00	\$27,450.00	\$5,700.00	\$17,100.00	\$10,000.00	\$30,000.00	\$7,700.00	\$23,100.00
13	INLET (COMPL)(PCO)(5FT)RIGHT)	2	EΑ	\$7,450.00	\$14,900.00	\$3,950.00	\$7,900.00	\$9,000.00	\$18,000.00	\$7,000.00	\$14,000.00
14	INLET (COMPL)(PCU)(5FT)(BOTH)	2	EΑ	\$9,450.00	\$18,900.00	\$4,950.00	\$9,900.00	\$12,000.00	\$24,000.00	\$7,200.00	\$14,400.00
15	INLET (COMPL)(PCU)(5FT)(LEFT)	9	EΑ	\$7,950.00	\$71,550.00	\$4,250.00	\$38,250.00	\$11,000.00	\$99,000.00	\$9,500.00	\$85,500.00
16	INLET (COMPL)(PCU)(5FT)RIGHT)	13	EA	\$8,050.00	\$104,650.00	\$4,300.00	\$55,900.00	\$11,000.00	\$143,000.00	\$8,200.00	\$106,600.00
	HEADWALLS, WINGWALLS AND SAFETY										
17	END TREATMENTS	2	EA	\$23,500.00	\$47,000.00	\$13,500.00	\$27,000.00	\$40,000.00	\$80,000.00	\$20,000.00	\$40,000.00
18	TRENCH SAFETY SYSTEMS, (ALL DEPTHS)	2808	LF	\$1.00	\$2,808.00	\$7.00	\$19,656.00	\$3.00	\$8,424.00	\$1.00	\$2,808.00

Page 1 of 8 Updated 6/17/19

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: April 30, 2021

BID TABULATION

	DECT: Chisnoim Valley Water, Wastewater, and Sto		•		nstruction						
		Company	y Name:	Compa	ıny, I nc.	Royal V	/ista Inc.	Cox Commercial Cons	truction	Smith Contracting	Co.
19	DEPTHS), INCLUDING EXCAVATION AND BACKFILL	361	LF	\$187.00	\$67,507.00	\$75.00	\$27,075.00	\$160.00	\$57,760.00	\$96.00	\$34,656.00
20	DEPTHS), INCLUDING EXCAVATION AND BACKFILL	370	LF	\$215.00	\$79,550.00	\$85.00	\$31,450.00	\$170.00	\$62,900.00	\$132.00	\$48,840.00
21	DEPTHS), INCLUDING EXCAVATION AND BACKFILL	367	LF	\$259.00	\$95,053.00	\$105.00	\$38,535.00	\$245.00	\$89,915.00	\$166.00	\$60,922.00
22	DEPTHS), INCLUDING EXCAVATION AND BACKFILL	342	LF	\$304.00	\$103,968.00	\$135.00	\$46,170.00	\$290.00	\$99,180.00	\$218.00	\$74,556.00
23	DEPTHS), INCLUDING EXCAVATION AND BACKFILL	267	LF	\$395.00	\$105,465.00	\$185.00	\$49,395.00	\$325.00	\$86,775.00	\$275.00	\$73,425.00
24	DEPTHS), INCLUDING EXCAVATION AND BACKFILL	129	LF	\$510.00	\$65,790.00	\$205.00	\$26,445.00	\$335.00	\$43,215.00	\$330.00	\$42,570.00
25	P.C. CONCRETE CURB AND GUTTER, INCLUDING EXCAVATION	372	LF	\$65.00	\$24,180.00	\$25.00	\$9,300.00	\$22.00	\$8,184.00	\$25.00	\$9,300.00
26	TYPE I P.C. CONCRETE DRIVEWAY	135	SY	\$185.00	\$24,975.00	\$110.00	\$14,850.00	\$175.00	\$23,625.00	\$105.00	\$14,175.00
27	RECONSTRUCTION CONCRETE SIDEWALK TO 4-INCH THICKNESS, INCLUDING REMOVAL OF EXISTING SIDEWALK	165	SY	\$145.00	\$23,925.00	\$85.00	\$14,025.00	\$95.00	\$15,675.00	\$76.00	\$12,540.00
28	RECONSTRUCTION CONCRETE SIDEWALK RAMPS, INCLUDING REMOVAL OF EXISTING SIDEWALK RAMPS	4	EA	\$2,500.00	\$10,000.00	\$2,150.00	\$8.600.00	\$3,000.00	\$12,000.00	\$1,800.00	\$7,200.00
29	PRECAST CONCRETE BOX CULVERTS, 4 FT x 2 FT, (ALL DEPTHS), INCLUDING			• • • • • • • • • • • • • • • • • • • •	, ,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	.,			
29	PRECAST CONCRETE BOX CULVERTS, 4 FT x 3 FT. (ALL DEPTHS), INCLUDING	11	LF	\$485.00	\$5,335.00	\$260.00	\$2,860.00	\$415.00	\$4,565.00	\$364.00	\$4,004.00
30	EXCAVATION AND BACKFILL	97	LF	\$500.00	\$48,500.00	\$305.00	\$29,585.00	\$435.00	\$42,195.00	\$402.00	\$38,994.00
31	PRECAST CONCRETE BOX CULVERTS, 4 FT x 4 FT, (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	326	LF	\$550,00	\$179,300.00	\$335.00	\$109,210.00	\$465.00	\$151,590.00	\$460.00	\$149,960.00

BIDS EXTENDED AND CHECKED

BY:	Amanda Taylor
DATE:	April 30, 2021

BID TABULATION

11100	ECT: Chisholm Valley Water, Wastewater, and Sto				nstruction						
		Company	Company Name:		ny, Inc.	Royal V	/ista Inc.	Cox Commercial Cons	truction	Smith Contracting	Co.
32	PRECAST CONCRETE BOX CULVERTS, 5 FT x 4 FT, (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	402	LF	\$595.00	\$239.190.00	\$435.00	\$174.870.00	\$550.00	\$221.100.00	\$556 00	\$223.512.00
	PRECAST CONCRETE BOX CULVERTS, 5 FT x 5 FT, (ALL DEPTHS), INCLUDING	-		, , , , , ,	, .,	•	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, , , , ,	
33	EXCAVATION AND BACKFILL	136	LF	\$525.00	\$71,400.00	\$450.00	\$61,200.00	\$620.00	\$84,320.00	\$590.00	\$80,240.00
34	REFLECTORIZED PAVEMENT MARKERS (TYPE II-B-B)	5	EA	\$12.00	\$60.00	\$10.00	\$50.00	\$20.00	\$100.00	\$30.00	\$150.00
35	TRENCH SAFETY SYSTEMS, (ALL DEPTHS)	333	LF	\$1.00	\$333.00	\$6.00	\$1,998.00	\$3.00	\$999.00	\$3.00	\$999.00
36	PIPE, 18", STEEL ENCASEMENT	60	LF	\$170.00	\$10,200.00	125	\$7,500.00	230	\$13,800.00	165	\$9,900.00
37	DUCTILE IRON FITTINGS	0.5	Ton	\$14,075.00	\$7,037.50	\$12,000.00	\$6,000.00	\$8,000.00	\$4,000.00	\$7,900.00	\$3,950.00
38	PIPE, 6", CLASS 350 DIP (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	95	LF	\$305.00	\$28,975.00	\$105.00	\$9,975.00	\$175.00	\$16,625.00	\$135.00	\$12,825.00
39	PIPE, 8", CLASS 350 DIP (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	238	LF	\$315.00	\$74,970.00	\$125.00	\$29,750.00	\$175.00	\$41,650.00	\$140.00	\$33,320.00
40	RECONNECTING LATERAL SERVICE TO REPLACED PIPE (W)	13	EA	\$3,000.00	\$39,000.00	\$1,900.00	\$24,700.00	\$2,500.00	\$32,500.00	\$2,300.00	\$29,900.00
41	WET CONNECTIONS (W)	8	EA	\$2,000.00	\$16,000.00	\$2,100.00	\$16,800.00	\$5,000.00	\$40,000.00	\$2,000.00	\$16,000.00
42	FIRE HYDRANTS	2	EA	\$6,275.00	\$12,550.00	\$4,100.00	\$8,200.00	\$5,000.00	\$10,000.00	\$5,700.00	\$11,400.00
43	VALVES (6" DIA.)	3	EA	\$1,450.00	\$4,350.00	\$1,200.00	\$3,600.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00
44	VALVES (8" DIA.)	3	EA	\$1,900.00	\$5,700.00	\$1,600.00	\$4,800.00	\$2,500.00	\$7,500.00	\$1,900.00	\$5,700.00
45	TRENCH SAFETY SYSTEMS, (ALL DEPTHS)	3200	LF	\$1.00	\$3,200.00	\$6.00	\$19,200.00	\$3.00	\$9,600.00	\$1.00	\$3,200.00
46	FLOWABLE BACKFILL (WASTEWATER)	36	CY	\$150.00	\$5,400.00	\$150.00	\$5,400.00	\$1,000.00	\$36,000.00	\$210.00	\$7,560.00
47	PIPE, 16", STEEL ENCASMENT	50	LF	\$125.00	\$6,250.00	\$125.00	\$6,250.00	\$230.00	\$11,500.00	\$145.00	\$7,250.00
48	DROP MANHOLE, 60" DIA. (PRE-CAST BASE)	1	EA	\$10,500.00	\$10,500.00	\$7,900.00	\$7,900.00	\$12,000.00	\$12,000.00	\$11,100.00	\$11,100.00
49	NEW MANHOLE CONSTRUCTION, 48" DIA. (WW) (CIP BASE) (ALL DEPTHS)	4	EA	\$8,250.00	\$33,000.00	\$5,850.00	\$23,400.00	\$16,000.00	\$64,000.00	\$8,000.00	\$32,000.00
50	NEW MANHOLE CONSTRUCTION, 48" DIA. (WW) (PRE-CAST BASE) (ALL DEPTHS)	10	EA	\$7,750.00	\$77,500.00	\$5,050.00	\$50,500.00	\$12,000.00	\$120,000.00	\$6,300.00	\$63,000.00

BIDS EXTENDED AND CHECKED

 BY:
 Amanda Taylor

 DATE:
 April 30, 2021

BID TABULATION

			Cash Co	nstruction						
	Company	/ Name:	Compa	ıny, Inc.	Royal V	'ista Inc.	Cox Commercial Cons	truction	Smith Contracting	Co.
PIPE, 12", ASTM 3034 DR-26 (ALL DEPTHS),										
51 INCLUDING EXCAVATION AND BACKFILL	927	LF	\$365.00	\$338,355.00	\$135.00	\$125,145.00	\$200.00	\$185,400.00	\$222.00	\$205,794.00
PIPE, 8", ASTM 3034 DR-26 (ALL DEPTHS),										
52 INCLUDING EXCAVATION AND BACKFILL	1238	LF	\$285.00	\$352,830.00	\$125.00	\$154,750.00	\$180.00	\$222,840.00	\$158.00	\$195,604.00
RECONNECTING LATERAL SERVICE TO										
53 REPLACED PIPE (WW)	45	EA	\$250.00	\$11,250.00	\$1,500.00	\$67,500.00	\$2,300.00	\$103,500.00	\$3,000.00	\$135,000.00
54 NEW SERVICE CLEANOUTS	45	EA	\$2,500.00	\$112,500.00	350	\$15,750.00	800	\$36,000.00	900	\$40,500.00
55 ABANDONMENT OF EXISTING MANHOLES	4	EA	\$750.00	\$3,000.00	\$900.00	\$3,600.00	\$2,000.00	\$8,000.00	\$3,700.00	\$14,800.00
56 BYPASS PUMPING	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$70,000.00	\$70,000.00	\$10,000.00	\$10,000.00
57 DRY ROCK RIPRAP CL III (DEPTH 24-INCHES)	8	CY	\$115.00	\$920.00	\$175.00	\$1,400.00	\$600.00	\$4,800.00	\$250.00	\$2,000.00
58 SEEDING	500	SY	\$3.00	\$1,500.00	\$4.00	\$2,000.00	\$13.00	\$6,500.00	\$7.00	\$3,500.00
59 SODDING	450	SY	\$8.50	\$3,825.00	\$14.00	\$6,300.00	\$21.00	\$9,450.00	\$10.00	\$4,500.00
60 TREE PROTECTION	10	EA	\$250.00	\$2,500.00	\$550.00	\$5,500.00	\$350.00	\$3,500.00	\$450.00	\$4,500.00
61 ROCK FILTER DAM	50	LF	\$25.00	\$1,250.00	\$45.00	\$2,250.00	\$70.00	\$3,500.00	\$50.00	\$2,500.00
EROSION CONTROL LOGS INLET										
PROTECITON (INSTALLATION,										
62 MAINTENANCE AND REMOVAL)	39	EA	\$110.00	\$4,290.00	\$150.00	\$5,850.00	\$130.00	\$5,070.00	\$138.00	\$5,382.00
INSTALLATION, MAINTENANCE AND										
63 REMOVAL	140	LF	\$7.50	\$1,050.00	\$30.00	\$4,200.00	\$7.00	\$980.00	\$14.00	\$1,960.00
64 PREPARE ROW (FOR STORM DRAIN	2	AC	\$11,000.00	\$22,000.00	\$3,000.00	\$6,000.00	\$10,000.00	\$20,000.00	\$25,000.00	\$50,000.00
65 BARRICADES, SIGNS AND TRAFFIC HANDLING	300	CD	\$600.00	\$180,000.00	\$85.00	\$25,500.00	\$850.00	\$255,000.00	\$425.00	\$127,500.00
66 RELOCATE EXISTING MAILBOX	6	EA	\$275.00	\$1,650.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$1,000.00	\$6,000.00
REMOVE AND RELOCATE EXISTING										
67 WOODEN FENCE	110	LF	\$67.00	\$7,370.00	\$25.00	\$2,750.00	\$50.00	\$5,500.00	\$70.00	\$7,700.00
68 C.I.P. PROJECT SIGNS	2	EA	\$650.00	\$1,300.00	\$800.00	\$1,600.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00
IMPLEMENT, AND UPDATE STORM WATER			_	_	_	_				_
POLLUTION PREVENTION PLAN (INCLUDING										
69 INSPECTIONS)	1	LS	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$6,000.00	\$6,000.00
70 TOTAL MOBILIZATION PAYMENT	1	LS	\$47,011.50	\$47,011.50	\$75,000.00	\$75,000.00	\$340,000.00	\$340,000.00	\$130,000.00	\$130,000.00
TOTAL				\$3,280,126.00		\$1,987,497.00		\$3,491,561.00		\$2,751,693.00

BIDS EXTENDED AND CHECKED

BY:	Amanda Taylor
DATE:	April 30, 2021

BID TABULATION

PROJECT: Chisholm Valley Water, Wastewater, and Storm Drain Improvements - Area 3

BID DA				Addendum(s	Statement of Safety? Yes Addendum(s)?		Safety? Yes 3)?	Statement of Safety? Yes Addendum(s)?		Statement of Safety? Yes Addendum(s)?	
				Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes
ITEM#		APPROX QTY.	UNIT	UNIT PRICE	COST	UNIT	COST	UNIT PRICE	COST	UNIT PRICE	COST
	REMOVE STRUCTURE (INLET)	2	EA	\$2,500.00	\$5,000.00		\$0.00	-	\$0.00		\$0.00
	HOT MIX ASPHALT CONCRETE PAVEMENT, 2" TYP-D	1381	Ton	\$115.00	\$158,815.00		\$0.00		\$0.00		\$0.00
3	SURFACE PLANING (MILLING) (2")	11543	SY	\$3.65			\$0.00		\$0.00		\$0.00
	NEW MANHOLE CONSTRUCTION, 60" DIA.	1	EA	\$8,500.00	\$8,500.00		\$0.00		\$0.00		\$0.00
5	NEW MANHOLE CONSTRUCTION, 72" DIA.	2	EA	\$9,000.00	\$18,000.00		\$0.00		\$0.00		\$0.00
6	PRECAST JUNCTION BOX 4 FT X 4 FT	4	EA	\$7,500.00	\$30,000.00		\$0.00		\$0.00		\$0.00
7	PRECAST JUNCTION BOX 5 FT X 5 FT	4	EA	\$8,000.00	\$32,000.00		\$0.00		\$0.00		\$0.00
8	PRECAST JUNCTION BOX 5 FT X 6 FT	2	EA	\$16,000.00	\$32,000.00		\$0.00		\$0.00		\$0.00
9	PRECAST JUNCTION BOX 7 FT X 7 FT	2	EA	\$24,000.00	\$48,000.00		\$0.00		\$0.00		\$0.00
10	PRECAST JUNCTION BOX 8 FT X 8 FT	1	EA	\$25,500.00	\$25,500.00		\$0.00		\$0.00		\$0.00
11	GRATE INLET (3-FOOT X 3-FOOT)	1	EA	\$5,800.00	\$5,800.00		\$0.00		\$0.00		\$0.00
	INLET (COMPL)(PCO)(5FT)(BOTH)	3	EA	\$15,200.00	\$45,600.00		\$0.00		\$0.00		\$0.00
	INLET (COMPL)(PCO)(5FT)RIGHT)	2	EA	\$9,400.00	\$18,800.00		\$0.00		\$0.00		\$0.00
	INLET (COMPL)(PCU)(5FT)(BOTH)	2	EA	\$15,600.00	\$31,200.00		\$0.00		\$0.00		\$0.00
	INLET (COMPL)(PCU)(5FT)(LEFT)	9	EA	\$10,400.00	\$93,600.00		\$0.00		\$0.00		\$0.00
16	INLET (COMPL)(PCU)(5FT)RIGHT)	13	EA	\$10,000.00	\$130,000.00		\$0.00		\$0.00		\$0.00
	HEADWALLS, WINGWALLS AND SAFETY END TREATMENTS	2	EA	\$27,000.00	\$54,000.00		\$0.00		\$0.00		\$0.00
18	TRENCH SAFETY SYSTEMS, (ALL DEPTHS)	2808	LF	\$1.00	\$2,808.00		\$0.00		\$0.00		\$0.00

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: April 30, 2021

BID TABULATION

	- , ,	Compan	y Name:	Austin Eng	ineering Co.	0	0	0
	DEPTHS), INCLUDING EXCAVATION AND							
19	BACKFILL	361	LF	\$280.00	\$101,080.00	\$0.00	\$0.00	\$0.00
	DEPTHS), INCLUDING EXCAVATION AND							
20	BACKFILL	370	LF	\$285.00	\$105,450.00	\$0.00	\$0.00	\$0.00
	DEPTHS), INCLUDING EXCAVATION AND							
21	BACKFILL	367	LF	\$300.00	\$110,100.00	\$0.00	\$0.00	\$0.00
	DEPTHS), INCLUDING EXCAVATION AND							
22	BACKFILL	342	LF	\$368.00	\$125,856.00	\$0.00	\$0.00	\$0.00
23	PIPE (RCP CLASS III) 42-INCHES, (ALL	267	LF	\$465.00	\$124,155.00	\$0.00	\$0.00	\$0.00
	DEPTHS), INCLUDING EXCAVATION AND							
24	BACKFILL	129	LF	\$505.00	\$65,145.00	\$0.00	\$0.00	\$0.00
	P.C. CONCRETE CURB AND GUTTER,							
25	INCLUDING EXCAVATION	372	LF	\$47.00	\$17,484.00	\$0.00	\$0.00	\$0.00
26	TYPE I P.C. CONCRETE DRIVEWAY	135	SY	\$155.00	\$20,925.00	\$0.00	\$0.00	\$0.00
	RECONSTRUCTION CONCRETE SIDEWALK							
	TO 4-INCH THICKNESS, INCLUDING							
27	REMOVAL OF EXISTING SIDEWALK	165	SY	\$94.00	\$15,510.00	\$0.00	\$0.00	\$0.00
	RECONSTRUCTION CONCRETE SIDEWALK							
	RAMPS, INCLUDING REMOVAL OF EXISTING							
28	SIDEWALK RAMPS	4	EA	\$1,700.00	\$6,800.00	\$0.00	\$0.00	\$0.00
	PRECAST CONCRETE BOX CULVERTS, 4 FT x							
	2 FT, (ALL DEPTHS), INCLUDING							
29	EXCAVATION AND BACKFILL	11	LF	\$478.00	\$5,258.00	\$0.00	\$0.00	\$0.00
	PRECAST CONCRETE BOX CULVERTS, 4 FT x							
	3 FT, (ALL DEPTHS), INCLUDING							
30	EXCAVATION AND BACKFILL	97	LF	\$560.00	\$54,320.00	\$0.00	\$0.00	\$0.00
	PRECAST CONCRETE BOX CULVERTS, 4 FT x	_		_				
	4 FT, (ALL DEPTHS), INCLUDING							
31	EXCAVATION AND BACKFILL	326	LF	\$615.00	\$200,490.00	\$0.00	\$0.00	\$0.00

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: April 30, 2021

BID TABULATION

		Compan	y Name:	Austin Eng	ineering Co.	0	0	0
	PRECAST CONCRETE BOX CULVERTS, 5 FT x							
	4 FT, (ALL DEPTHS), INCLUDING							
32	EXCAVATION AND BACKFILL	402	LF	\$750.00	\$301,500.00	\$0.00	\$0.00	\$0.00
	PRECAST CONCRETE BOX CULVERTS, 5 FT x							
	5 FT, (ALL DEPTHS), INCLUDING							
33	EXCAVATION AND BACKFILL	136	LF	\$765.00	\$104,040.00	\$0.00	\$0.00	\$0.00
	REFLECTORIZED PAVEMENT MARKERS							
34	(TYPE II-B-B)	5	EA	\$15.00	\$75.00	\$0.00	\$0.00	\$0.00
35	TRENCH SAFETY SYSTEMS, (ALL DEPTHS)	333	LF	\$1.00	\$333.00	\$0.00	\$0.00	\$0.00
36	PIPE, 18", STEEL ENCASEMENT	60	LF	\$275.00	\$16,500.00	\$0.00	\$0.00	\$0.00
37	DUCTILE IRON FITTINGS	0.5	Ton	\$4,000.00	\$2,000.00	\$0.00	\$0.00	\$0.00
	PIPE, 6", CLASS 350 DIP (ALL DEPTHS),							
38	INCLUDING EXCAVATION AND BACKFILL	95	LF	\$220.00	\$20,900.00	\$0.00	\$0.00	\$0.00
	PIPE, 8", CLASS 350 DIP (ALL DEPTHS),							
39	INCLUDING EXCAVATION AND BACKFILL	238	LF	\$225.00	\$53,550.00	\$0.00	\$0.00	\$0.00
	RECONNECTING LATERAL SERVICE TO							
40	REPLACED PIPE (W)	13	EA	\$2,400.00	\$31,200.00	\$0.00	\$0.00	\$0.00
41	WET CONNECTIONS (W)	8	EA	\$3,000.00	\$24,000.00	\$0.00	\$0.00	\$0.00
42	FIRE HYDRANTS	2	EA	\$6,700.00	\$13,400.00	\$0.00	\$0.00	\$0.00
43	VALVES (6" DIA.)	3	EA	\$2,600.00	\$7,800.00	\$0.00	\$0.00	\$0.00
44	VALVES (8" DIA.)	3	EA	\$3,000.00	\$9,000.00	\$0.00	\$0.00	\$0.00
45	TRENCH SAFETY SYSTEMS, (ALL DEPTHS)	3200	LF	\$1.00	\$3,200.00	\$0.00	\$0.00	\$0.00
46	FLOWABLE BACKFILL (WASTEWATER)	36	CY	\$340.00	\$12,240.00	\$0.00	\$0.00	\$0.00
47	PIPE, 16", STEEL ENCASMENT	50	LF	\$325.00	\$16,250.00	\$0.00	\$0.00	\$0.00
48	DROP MANHOLE, 60" DIA. (PRE-CAST BASE)	1	EA	\$17,000.00	\$17,000.00	\$0.00	\$0.00	\$0.00
	NEW MANHOLE CONSTRUCTION, 48" DIA.							
49	(WW) (CIPBASE) (ALL DEPTHS)	4	EA	\$8,000.00	\$32,000.00	\$0.00	\$0.00	\$0.00
50	NEW MANHOLE CONSTRUCTION, 48" DIA.	10	EA	\$8,500.00	\$85,000.00	\$0.00	\$0.00	\$0.00
	PIPE, 12", ASTM 3034 DR-26 (ALL DEPTHS),							
51	INCLUDING EXCAVATION AND BACKFILL	927	LF	\$305.00	\$282,735.00	\$0.00	\$0.00	\$0.00
52	PIPE, 8", ASTM 3034 DR-26 (ALL DEPTHS),	1238	LF	\$275.00	\$340,450.00	\$0.00	\$0.00	\$0.00

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: April 30, 2021 Amanda Taylor

BID TABULATION

PROJECT: Chisholm Valley Water, Wastewater, and Sto	rm Drain	Impro	vements - Ar	ea 3			
	Company	/ Name:	Austin Eng	ineering Co.	0	0	0
RECONNECTING LATERAL SERVICE TO							
53 REPLACED PIPE (WW)	45	EA	\$1,650.00	\$74,250.00	\$0.00	\$0.00	\$0.00
54 NEW SERVICE CLEANOUTS	45	EA	\$2,900.00	\$130,500.00	\$0.00	\$0.00	\$0.00
55 ABANDONMENT OF EXISTING MANHOLES	4	EA	\$1,800.00	\$7,200.00	\$0.00	\$0.00	\$0.00
56 BYPASS PUMPING	1	LS	\$6,000.00	\$6,000.00	\$0.00	\$0.00	\$0.00
57 DRY ROCK RIPRAP CL III (DEPTH 24-INCHES)	8	CY	\$115.00	\$920.00	\$0.00	\$0.00	\$0.00
58 SEEDING	500	SY	\$2.00	\$1,000.00	\$0.00	\$0.00	\$0.00
59 SODDING	450	SY	\$8.00	\$3,600.00	\$0.00	\$0.00	\$0.00
60 TREE PROTECTION	10	EA	\$220.00	\$2,200.00	\$0.00	\$0.00	\$0.00
61 ROCK FILTER DAM	50	LF	\$25.00	\$1,250.00	\$0.00	\$0.00	\$0.00
EROSION CONTROL LOGS INLET PROTECITON (INSTALLATION,							
62 MAINTENANCE AND REMOVAL)	39	EA	\$110.00	\$4,290.00	\$0.00	\$0.00	\$0.00
63 EROSION CONTROL LOG (18" DIA.),	140	LF	\$120.00	\$16,800.00	\$0.00	\$0.00	\$0.00
PREPARE ROW (FOR STORM DRAIN							
64 OUTFALL)(INCLUDING REMOVAL OF TREES)	2	AC	\$6,000.00	\$12,000.00	\$0.00	\$0.00	\$0.00
65 BARRICADES, SIGNS AND TRAFFIC HANDLING	300	CD	\$55.00	\$16,500.00	\$0.00	\$0.00	\$0.00
66 RELOCATE EXISTING MAILBOX	6	EA	\$225.00	\$1,350.00	\$0.00	\$0.00	\$0.00
REMOVE AND RELOCATE EXISTING WOODEN FENCE	110	LF	\$60.00	\$6.600.00	\$0.00	\$0.00	\$0.00
68 C.I.P. PROJECT SIGNS	2	EA	\$575.00	\$1,150.00	\$0.00	\$0.00	,
CONTRACTOR TO PREPARE, SUBMIT, IMPLEMENT, AND UPDATE STORM WATER POLLUTION PREVENTION PLAN (INCLUDING			45.5.00	Ţ.,	\$0.00	40.00	40.00
69 INSPECTIONS)	1	LS	\$2,000.00	\$2,000.00	\$0.00	\$0.00	\$0.00
70 TOTAL MOBILIZATION PAYMENT	1	LS	\$125,000.00	\$125,000.00	\$0.00	\$0.00	\$0.00
TOTAL				\$3,520,110.95	\$0.00	\$0.00	\$0.00